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1.  Vapour pressure of chloroform (CHCly) | 1.  25°C 9T sefiirerd (CHCL,) ae
and dichloromethane (CH,Cl,) at 25°C are :
S CH,CL,) % =17 & 31 200
200 mmHg and 41.5 mmHg respectively. (CHCL)

Vapour pressure of the solution obtained 41.5 mmHg &1 25.5 g CHC
* by imixing 25.5 g of CHCI, and 40 g of 40 g CH,Cl, % e W s
- CH,Cl, at the same temperature will be : <9 S a9 T A, o
(Molecular mass of CHCI3=119.5 u and _
molecular mass of CH,Cl, =85 u) (CHCI, 1 #1] ¥R =119.5 CHCL
_ I YR=85u B)
(1) 285.5 mumHg . o) L\ .
(1) 2855 mmHg Q sy
(2173.9 mmHg 20 §S
(2) 1739 mmH
(3) 615.0 mmHg 333
, .9 mm:
' 8 (4) 347.9& Q@; :

2. The Gibbs’ energy for the decomposition @
of Al O, at 500°C is as follows : 2. S00°CAR AL, & fases & ford frsw o
3

2 4. G-

2 I\ «ftioy e’
g 4 Kﬁ) ) oy e
: R A ; -
. A,G=+960 kj.mol 1. DA 373 A0, t (%13 >
© The potential difference needed for the (%& +960 k] mol~?!

electrolytic reduction of aluminium oxide 00°C R Yot sifares ( Al; 03)&;&“@

(AL,O,) at 500°C is at least Q‘/ﬂg"'!Q éafeﬁﬁuaammﬁmam%:
(1) 50V

i L onf (1) 50V S s
&) gy “ - j 2) 45V Y +2[ ‘AL
(3)’.3.0\/ 440 :\"{6 3) 30V |
“ro 25V @ @ 25V oA

3. Four successive membe L@rst series . .
. of the transition metal ed below. | > M F 5o A0 % o & WK 0w

For which one of e standard I I IR e A fod I € owd @
pote-:r‘mitial (E:{ul e has a positive fous ford 2ed fawm (E&Z*/M ] H A
. osign? O% e g e &2
! (1) Fe (Z@Q (1) Fe (Z=26)
A (2) Co(Z=Y)) (2) Co (Z=27)
' 3) Rk 18) (3) Ni (Z=28)
4 Z=29) (4) Cu (Z=29)

f!',j_; B o [P Lk et TR el R TR SRLEPUTS T[T FRE R RPN T H B S , BURENITREE & R B PO B LI A F - | i ke
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oxidation stale ?

4,  Which of the following exhibits only +3 | 4. fysy 9 8 59 899 + 3 399779 argzen
87
(1) Pa (1) Pa @
(3) Th (3) Th @
N4Ac 4)  Ac

5. Molar conductivities (A nm) at infinite | 5« FT7 I T, NaCl, H

dilution of NaCl Cl anEKEFCGON? are 1 TR Tﬂami (

:126.4, 4259
126.4, 425.9 and 91.0 S cm 91 91.0 S cm?2

, CH,COOH =t
respectively. Am for CH,COOH will be :

\/m/39055cm2m01 Tenmgt

(3) 18055cm mol‘l PRFLAY.

A
(4) 290.8 S cm? mol ! oy 6‘;‘-’3‘
-\
-—'5—6/%
6. In which of the following arrangements

the given sequence is not strictly according

to the property indicated against it ? {37 “m_'\‘ ferfa Toed & Jrgen &
\W < $i0, < Sn0, < PbO, : 2 |
\ increasing oxidising power. ~

(1) CO, < Si0, < $nO, < PbO, : TG

- HF < HCl < HBr < HI : increasi Q TR T
ac1d1c strength ‘ r%

-@ H,0 <H,5 < H,Se < H@Xﬁip (2) HF < HCl < HBr < HI : 9gal 3%t
2 2 y

increasing pK; values BICE] :
(\%)/ NH3 < PHS < ASH Va % ] 3 . (3) Hzo <H25 < ste < HzTe . m pKﬂ
increasing acidic charg \ ™ e

7.  Consider the reaction : &)’ ‘ (4) NH,; < PH, < {\SHQ’ < Sbi, : Fgdl
RCHO + NH,NH, % NF, A STTER
What sort of reactio
k/ Nucleophili on - elimination | 7. [T ifufswan w faar wiferg -
reaction % ' RCHO + NH,NH,-»RCH=N ~ NH,
(2) Electro dition - elimination 78 Ty gam =+ atfufran 22

L I (1) R we-fae

(3) fre 19al addition - elimination ) ; 1 - 3 o : .'
Ele@ophilic substitution - (3) I Xewhet Toher - foreiia arfufsean

lidhination reaction (4) 3@3@?’@@ wfaeenmA-faeiaa erfufean

A “‘..:.,:.,. e U . ey T ey R mmﬂﬂlmm ﬂlm : -ip

I




ArR .
A n L R
Mﬁ?’(’r” 5 B

8. . During change of O, to O3 ion, the | 8. O, %1 O, 3F7 4 9figdq 20 vy ‘
.. _.electron adds on which one of the Wﬁ@ﬁqrgﬂgﬁagﬁm%? @

following orbitals ?

(1) o orbital L) o
v£2) w* orbital (2)

(3) = orbital (3)

(4)  o* orbital (4)

Co9 | Standard reduction potentials of the half | 9,  a1d stfufra % g

reactions are given below : e
Fag #2072 g EO= 4285 Py + 20 ™2F " .
Clygy +2e7=2C17 ()5 EO=+136 V (:12i8}+2e‘~> @; Eo= +136 V
Br2(1)+26~—>28r_(aq) ; E°=+106V [3r2(l)+2e @ E°= +1.06 V
12(5) +2e” _”21_(3(}} ; E®=+053V Lig+2e™— y; E°=+053V
The strongest oxidising and reducing e [E3%, 0o ST e ¥
. agepts,respectively are : ‘ ) %Iq
(1) Chandli, % :
Fyand 1- m@? -
(3) Br,and Cl- | (@ ¢ A CI-
(4)  Cl and Br~ @ Cl, 97 Br— -

10.  The catalytic activity of transition metals %@]ﬁwﬁ&ﬂ’(ﬁ?ﬁﬁmﬁmm

and their compounds is ascribed maint 1 TEH: TS

& .

(1)  their chemical reactivity % (1) Tt Tt e
(2 their ma gnetic behaviour @ (2) TR gEEE TR

3) their unfilled d - orbitals (3) =TI @ d - smfsfed

WiH their ability to adopgtxanable (4) I uftadavitel su=aq erawena) §
. oxidation states 1 ST T e

p—
— e

11.  Eqial volumes of two
A and B, at same tem

omic gases,

and pressure | 11- @ M e, A o B ¥ FuaR g
are mixed. Thg r f'specific heats AT 19 3R g W fremd wn ¥ fagw s
(Cpl/Cv) of the mi will be : . Ba/{\q ey e (Cp/cv) T TR AW

S 167 XU A @) 167
(2) 0.83 LY \JN B 2 o83
ONEE NN (3) 1.50
(4) 34 (hy 3.3

A THERTRE YR T
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= A 38" ("’ Ak —'"s‘\'?"ﬂ' V.
— - &0 S
. 12. Given that the equilibrium constant for the | 12, W fa9m am W'%ﬁ%pﬁ
P reaction 5 1%1'Q
2505y + 045, =250
— 2y T2 3g)

temperature. What is the value of the

6 &1 7 278 femm o 21 =
has a value of 278 at a particular Ak @

equilibrium constant for the following SOn; oy e SOy, | _
reaction at the same temperature ? ) =) % %?
) & foag 917 ferfw @ B ?
SO3(g) = SOxgy*+ ¥4 Vo) 1) 13x103
1) 13x1073 A )
o -3 ] & @ ) riad
(2) 1.8%x10 1€ (3) X
A3 3.6%x1077 :
(4) 6.0x1072 x@ :
&z Fatrfia ages
13.  Which one of the following sets forms the
biodegradable polymer ? '
@ ST
1 {O)- CH=CH, and
=CH-CH=CH,

/\\

CH,=CH-CH=CH
2 2 < (2) CH2 - CH - CN @i
&y CH,y=CH-CN and CH, = CH —CH = CH,

CH,=CH~CH=CH, @ .
(3).- H,N—CH,~COOH and : (3)  F,N-CH,-COOH

H,N - (CH,); - COOH H,N —(CH,); - COOH
(4) HO-CH,—CH,- @ (4) HO-CH,-CH,—OH &R

HOOC — @-COOH

14. fqeenys srfuferar .

ST + MI —CI+MF——> CF+MI
e most favourable if M H, sifufewan stfeman W'@Fﬂqﬁl\/lm
T
(1) L
(2) Na
3 K
(4) Rb

- i
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15.

16.

B
Activation energy (E,) and rate constants 15. < fafim am, T, 9= T, W T&
(k; and k) of a chemical reaction at two Tfwaa E.) 9o =% Fraais
different temperatures (Ty and T,) are 9 ( 2 = (q
related by : VTR T THR grafd € @
n »
= AT e
ot
K B, (11 1) mi_ E (L !
W Ingg =T T T k7 R (T
k E, (1 1 ky > 1
e 2) 1 =
(2} kl T R (Tl T2 ] ( ) " kl @ 1 T2
S \ 1 1
. O E, (1 1 %@“ B, L _ 1
@) In k=" "Ea ("T; Tf;) ) In 3 R (T, T
- %o
k E 1 1
kp B (1,1 1 WA:_J_(-._+—J
(4) 1n—g:ﬁ§+(T2+TI] @2” | R\ T
Ry 154 -
ko agtelin Bl @ . “
InkKi = A :f?l IﬂRLQKn o - fu —kary
1 & To,
)
Which one of the following doe q/16. ﬁﬁﬁmmmﬂmﬁ*
correctly represent the correct ord&ro *H FH HTAN =iy g § 2
property indicated against it ? @ '
1) Ti<V<Mne<c.; &ing ond (1) Ti<V<Mn<Cr: g g AT
- lonization enthalpy T
(2) Ti < V< C]‘ < Mi{¢ ingnu[‘nber (2) 'Tl <V < CI' < Mﬂ : W mﬁ
_.of oxidation 5 Gl Em?ﬁr &)
. , B ’ L r
0 3
%bk < Mh}*’ (3) T3t < V3 < O3 < Mn3+ . T
increa gnetic momenf 2 '
T | 9 TR T[]
i <®r<Mn: increasing melting '
ﬂi‘“\) RLL“\[ f*:YT\U/ () i<V <Cr<Mn: S T

CE LT R




17. Red precipitate is obtained when ethancl | 17, w= T FEEE % SIEd]

solution of dimethylglyoxime is added to ferera =1 srefAERe Ni (1) 1 (e
ammoniacal Ni (II}. Which of the following ' )

statements is not true 7 %, A el SR uTa g ¥ ﬁﬁ'@

_ For Ted AE 87
(1) Dimethylglvoxime functions as

bidentate ligand. (N JT’W'JW'TI‘TT?J"I F[T?ﬁ #
wifq =g e %’
(2) Red complex has a square planar
geometry. (2) A @A 7 ertrEelty e
(3) Complex has symmetrical
H - bonding. |
5 (3) .w | 1 BRI %1
(4} Red complex has a tetrahedral A '
geometry. (4) il ii:{ d agm’%aa&'tq ﬁt?ﬂ
;
(| @
H,C s OH ~
dimethylglyoxime == 3 ,@ © _H;C- C N/

1—13("—-(".:1\1 .‘ |

OH TH,C- C= N
O .

18. An organic compound (CHgN} ( ﬁl K B
wherp. treafed with nitrous acid, gae a 8. T+ (CHgN) (A),Eﬁ'\iﬁi IEEAS!

alcohol and N, gas was evolved. ST 3 W SUHIE feRa T A U deh g
warming with CHCl; and cau faan aiR N, g fwell | (A) Fi CHCl,4 3R

gsaver (C)m‘:'}t‘:hl :‘“ ;Ed : “t]‘e Fifize drerm % Ty T R W (C) W §an

1SOPYopy ethyiamin 1C ne . - e

structure of (A). @ ﬁmﬂﬁﬁ%ﬁwﬂﬁrﬁmﬂﬁlaﬁﬁqﬁm| .
(A) Y HTF A U FIC

(1)  CH,CH,CHg - uﬁ

CHS\ i
| 2) CH3/ ) CH3\ CH - NH,
' 3
| | (3 QLY NH - CH, (3) CH,CH,~NH-CHy
| > '
(4) N - CHy (4) CH,— N —CH,
| \
O CH3 CHg
e A e e i e+ e e e AR

-t



o | q - e ey tge -
}/ﬁ’@. _ | b RE \
9 - ,ﬁii £ B

19. Structure of a mixed oxide is cubic close - 19, U 5 AioaEe & 9= 9 q’g;ﬁa (c.c.p)
packed (c.c.p). The cubic unit cell of mixed 21 fhy sAfwrse &1 gfre a9 3

ooxide is composed of oxide ions. One

f fourth of the tetrahedral voids are occupied SE 1 g3 g égl%%a fm =
. by@mandthem T e 9 e Oy A g
| voids are occupied by a _E\:’wjlgmtmetalﬁ o SRed fa o useaes g
B. Thef la of the oxid .
€ formula o e oxide is ; qﬁgﬂ%l ET'FE[%: Q
1) AB,O - !
‘ (2) ABZO2 c;: * RO ZPL s
: | (2) 2 _‘ ] | Tkl @ ABO v
- (3 ARBO, T F 5 ‘5{% B+ (3) A,BO, % 9
() AR, WX WA (4) ALBLO . A 6
. | WX % 273~y LEE’R A€
ot
20. The orbital angular momentum of a | 20. T& p - g REL
p - electron is given as : qeT feaf

ok
1) Jo.on [\(ia."‘ﬂ h gl D
o M 27 (]) %v@ ‘ " —48” ?
! \ % a_+% -
h ﬁ(gﬂzk LY
2t ﬁ 27 ?
h

| @ 3o <§% 5=
o w @@2 0 g

21. Four diatomic species are 11 21. =R fmomies s A2 fod @ & 3w

‘ (2)

[dentify the correct order%? ich the 8 wH aﬁwaﬁﬁmﬁmﬁﬁ T Y
bond order is increasing : ¥ a3 :
! IWFITRL: pess antang
| AN\ 7SS ST
- ()  He;, <03 <NO< 3~
+ - 2 + O 7
He, (2) NO< 0, < C5™ < He, { ’
< He, Y (3) O, <NO< C3™< He]
{ 2~ *e O
;<No 1S (4) C¥ < Hel<0; <NO
|
o o 3
to -~ L

R L I S A T AR

IR R LA e 4 UL PR N

BT
i - - Ao
-—u-"-q--‘ wom T e i

(L EE TS S TP Y

A -
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@ Which of the following compounds can be

23.

24,

1

used as antifreeze in

radiators ?

automobile

(1) Ethyl alcohol

\WQ/ Methyl alcoM
(3) Glycol

(4) Nitrophenol

For real gases van der Waals equation is
written as

an2 .
pt V2 | (V-nb)=nRT

where “a’ and ‘b’ are van der Waals
constants, ;

Two sets of gases are :

) 0O, &, H, and He

(I CH, O,and H, (
The gases given in set-I in increasing order
wgases given in set-Il in decreas;

rder of ‘a’, are arranged below. \Seldet

the correct order from the follov%

(1} (D) Hy<O,<He<CO, (i 1,>H,
(2) () He<H,<COy<O " H>0,
(3) 2>0y>CH,

() Oy<He<H,<CQ,\&
. @) Hy<He<O {a I) CH>O,>H,

A certain gas
effuse out
will be :

e ENE

ree times as long to

eligm. Its molecular mass

(1}

©

0

22.

Y

24.

23.

#7?

(2)
(3)
(4)

EltsIEED %mmmm
@ (V--nb)=n RT o

T it b 39 =t Aoy fegE ¥
B
@ O

'oz, CO,, H, 3R He
(Il CH,, O, HR H,
-1 9 & M6 b F agd guHn § ok
- 117 € T e F o’ & wed guwn A e
=aferd oo T 31 o @ 96 w0 w1 e

(1} (I) H,<0,<He<CO, (1) O,>CH,>H,
(2) (1) He<H,<CO,<O, (II) CH,>H,>O,
(3) (1) O,<He<H,<CO, (i) H,>0,>CH,
(4) (1) Hy<He<0,<CO, (I1) CHO,>H,

o T diferan # gern o freaf 99§ =
AT §HE el ¥, TR U] ST BT

(1) 9u

2) 27 u. - i
(3) 36u '
4) 64u

e R 4 ity e 7 e P e TR 1 R ; it ens 1
o TR
i R
S Vot




g e e

=

B
25, Consider the following reaction @ 25 fre ;grm' T faer wifey @
O™ i . O

A COCl
Pd - BaSO, Pd— BaSO

' The i)roduct ‘A’is _ I AR &Q
(1) CgH:Ql @

\@J/ CxHsCHO (2) C¢HsCHO
O})/CEHEQH (3) C,H;OH

(4) C4H;COCH, (4) CHsCOC

' 26.  Which of the following reagents will be | 26. 1-=qzrg= %@? A AW w0 &

able to distinguish between 1-butyne and i 21R F @ = g @2
2-butyne ? o
' (1)
(1) Br,
( H,
_(2¥" NaNH, <
(3) HA
: ‘ L . 4 02 .
4) O
=1 Al § ] 1 o ol et E‘h‘
27.  Which of the following compounds > My e T = sty 2
give a yellow plec1p1tate with 1odm S
alkali ? (1) 2 - EEgHRIES
i (1) 2 - Hydroxypropane y@ (2) UHAEER
" {2)  Acetophenone | 3)  aferm e
Methyl acetate \
[ Methy : d g (4) UtenEs
(4)  Acetamide rﬂN”\
28.  FMfEwTER ¥
8 Chlormmphg}u
(1) vhnifas-are wwy
: B2 antlblo ad spectrum
( anhfert drug (2) &1

I.‘-{}HTHH]L_ ) (‘3) 5 I‘I sEE I J
eptic and disinfectant (4) gfaden 3k i‘ LIKELE

AL R P L L LT FE P




29,

30.

12

Given the reaction between 2 gases
represented by A, and B, to give the
compound AB .

Ayg * Bag =2 AB(y)
~ At equilibrium, the concentration
of A,=3.0x10"3 M
of B,=42x10"° M
of AB=28x10"* M

If the reaction takes place in a sealed vessel
at 527°C, then the value of K_ will be :

' 4.5 .
\(?)/ 2.0 ChsY /’:f.!:lf
3) 1.9 °
@) 0.62

Low spin complex of ,_d6—;cation in an
octdhedral field will have the following
energy :

1 —‘Z‘A+P
M

@) —ga +P m‘\”\@

\)/‘——’mep ,
@@

(4) TA +2P

G

29,

31.

118/0 1h /
1:““‘& ‘ lq 6 1'&“‘[

L I

2%

A, T B, BRI HfuEre 1w 2
afufan A T AB, WfTR
A+ Bag) =2 ABg)

W T A, B,d91 AB #1

Tfg 527°C 4T ¢
K, %1 ¥
(1) 45 S

(2 A2 : BRI
(3) N

QY8 .

SHARA H TS Hiee # e e

%‘(aﬁmﬁﬂ@ﬁ
7,

‘?A +P

-1
(2) —5—-AO+P

- 12
(3) 5 Ag+3P

-2
(4) -5-—A +2P

Wqﬁ—gﬂmmm
S,

P= goagE gt )

Tle-Tdta aiien W, FEHESHAT adl
ertten e wffor feq U €2 L
Q) R

(2) wfesn

3y Ut

(4 ==

e

s em'lu\-loviﬁﬁ'mW!liiléL}hI Bda
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32." Identify the likely organisms (a), {b), (c) and
(d) in the food web shown below :

L. e e e e

lion

hawks
/
/ owls foxes snakes - [

LA N
, @ N

mice b) grass sparrow

N\ e

Vegetation/seeds

Options :

(a) (b) (c) (d)
(1}isquirrel cat rat |pigeon
(2)| deer | rabbit frog rat
()| dog
(4)| rat dog

P

¢ -

squirrel | bat deer

tortoise| crow

b 33. A test cross is carried out to :&

pemes or
varletles will br G - sudcessfully.

S @ detorm@no nepenotype of a plant at

e . W mi—

B’

32. e few@ W @ @@ W H (a), (b), ()
(d) STy = & §Ha 8§, TEIAT : @

At

(d)

2
ATw| @) © | @

33.  wdened g fag ol fem s }2

(2) UH 9 FE, R gres fuifa w3
% fermi

(3) qaEEn w1 & fag fF @ 3w
(fordre) weer € A€l

@) faedl st % Qeftel @t e fuifa
F0 ¥ fau |

NI S B0

Sl e R ST 2T

(1) =% Fruffes w01 & foe foe S wenfrai @
Sl TR ForA HON AT




B

34.

D

35.

36.

Read the following five statements (A - E)
and answer as asked next to them.

‘(7& In Equisetum the female gametophyte
is retained on the parent sporophyte.

(B In Ginkgo male gametophyte is not
independent.

The sporophyte in Riccia is more
developed than that in Polytrichum.

©

Sexual reproduction in Volvox is
isogamous.

ig

The spores of slime molds lack cell

14

34.

ﬁﬁﬁwﬁamﬁm-mfﬁrh

walls. ( m%mﬁﬂmfﬂﬁ
How many of the above statements {
are correct ? - (T wert A A fRad wd $7
(1) One TH :
T
M2)  Two A ) @
‘(y/ Three <§2 (3)
(4) Four (4y AR

-

is often called the “graveyard( RE
(1) Liver ‘
(2) Gall bladder &

3
A4
Which on the following generally acts
as andnt t to gibberellins ?
(1) %
tin

)
%thylene

)
)
) Kidney
) Spleen

ABA

35, frifafas § @ W @ o w8 o1 ¢ fg

W T & Fomel & Ry &

A e ?

(1) =Fa (Fm)
(2) Tuamra

(3) g%k ()
(4y e faed)

36, Frerfrf # % = 9 W TE ¥ 0 Rt
1 T foadt & ®9 | & F1q 82
(1) 1AA
(2) Sfafes
(3) wHlAA
(4) ABA

st 1P RPN AT B R O
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37.

38.

39,

44,

- Tobacco plants resistant to a nematode
have been developed by the introduction
of DNA that produced (in the host cells).

(1) a toxic protein

+ i k2) both sense and anti-sense RNA

(3) . a particular hormone

{(4) an antifeedant

How many plants in the list given below
have marginal placentation ?
‘ A oL -, i A\/‘

MuStard, Gram, Tulip, Asparagus, Athar,

| SLglhemp, Chi’1<li, Colcbqicine, Qnion,
Moeng, Pea, Tobacco, Lupin

LS o ¢

(1)  Three
(2) Four

&¥3) Five

@ s
For its activity, Carboxypeptidass@
requires : ' @
(1) Copper %
{2) -Zinc @
(3} Tron &
(4} Niacin \i\:@

The second stage of %re is occupied
by plants like : .
Y P | 0
ay Val!isneria%
) Azolla %) |

(3}

15

37.

40.

B .
TR % YAFH-Tiadt @l & e DN
Ta A T feeR (At ]

i) fome w71 §va gan ?

T foeTe idA @

(1)

(2) &Y 7o wia-ardf AT m%gm
(3) U fafore gmiq

(4) U TR (wfg

(1) dren
(2) v
(3) <
(4) frafa
SRR HIHHAW & gHG AR H 3§ TR
F NG e '@?\T %, 34 =
(1) e
(2) Tew
(3) 2w
(4) Gferag
S T 1 e R RTINS
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41.

- 42,

43.

44.

1

Which one of the following structures is
an organelle within an organelle ?

NeY)

(2) Ribosome

Mesosome

(3) Peroxisome

(4) ER

In gobar gas, the maximum amount is that
of :

(1) Carbon dioxide
(2) Butane

3) Methane

(4) Propane

The first clinical gene therapy was given
for treating :

¥1)  Adenosine-deaminase deficienc @
(2) _Diabetes mellitus @
(3)  Chicken pox

(4) Rheumatoid arthritis @
Which one of the follo&?@omolemles
is correctly chara te%

(1) Alanine am N Contains
an amino Hpdnd an acidic group
anywh %ue molecule

(¥ Leci a
g&%e ound in cell membrane
(3) %) acid - an unsaturated
a

cid with 18 carbon atoms

phosphorylated

Adenylic acid - adenosine with a
lucose phosphate molecule

6

44.

(4) A T

frfafes 4 & frw & Swamp #1 @@

faferear <F ot &7

(1)  TRHE T o - 7ol ues (i) g
I & o 379 Wit e o U arely
WE e R

(2) Wm—ﬁﬁmfaﬁﬁﬁwaﬁm i

TF WIERfEd wiause

(3) WiHfew o - Tw sTEgw T@ o
forad 18 wvefe oy €% €

(4) Cefifaw sr - QRARR foawds @y
T Te[shis ISR ] o & 2

T B P T D 1 AR

S o e
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45. Green revolution in India occurred

during :
(1) 1950's

(P 1960's
(3) 1970
(4)  1980’s

46. Cuscuta is an example of :

(1) Endoparasitism

e

)

) Ectoparasitism
3)  Brood parasitism

)

(
(4} Predation

47, Consider the following four statements
.. - (a-d) and select the option which includes
“all the correct ones only.

{a) Single cell Spiruling can produ
large quantities of food ricfin
protein, minerals, vitamins e

(b) Body weight-wise the micr% m
Methylophilus methyloiropfys @y be

. able to produce sever, %5 more

proteins than the cos er day

- {c)

45. wird o g wifa feg <hm g €2 :
(3) 1970 % g2U& o O
(4)

(1) 1950 % TTF H
(2) 1960 & TwH H

1980 & TUF H

46. THEA ( HEHaN) rc IR0 &
(1) L
(2)
(3)

Gy
47. IR FoA (a-d) W fFaR IS
Fae Wi 9E FuF e uw faee

wF iR emrgeener W, Wi,

fazifir anfe @ s o 1 97 |10

U I WO

(by 2T F ghe A gart r%wsa?ﬁraw
Hhemseiginy aiafed SuR w3 T S
G &1 G & e T 9 O €

(© mmwwmn(@jﬁ)ﬁérﬁﬂc

1 T SIgd 3TeDT I ¥

T UE e T fawfaa &) meh ?

5 e agd g ¥

foremeT .

(1} ¥ (a). (b)

(2) & (1), (d)

(3) W (a), (o) 3 (d)

(4) e (b), (c) 3R (d)
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48,

49,

18

How many organisms in the list given
below are antotrophs ?

. s - L
Lactobacillus, Nostoc, Chara, Nitrosomonas,
N.!'trobg}:!cr, Streptomyces, Sacharomyces,
Trypanosoma, Porphyra, Wolfia

(1) Three
(2) Four
(3) TFive
(@) six

Which one of the following categories
animals, is correctly described w

single exception in it ? %

(1) All mammals are v1 s "md

possess diaphragm & thing
O

(2) Al reptiles p cales, have a

(3), Al ishes have four pairs of gills
N/ . ’
a%? erculum on each side.

Wsponges are marine and have
llared cells.

48.

A & e F e e @ [

RESICIE A

ﬁ@mﬁmﬁﬁ g A W TH Sl

%ﬁ@ﬁmqamﬁarmé? wel oo foan
TR ?

(1) o wE frgee 98 ¥ e o v
o+ % U T sEmwm (T 2ar
i

©

(2) wft Tigd o wew AR F @ Fafw

‘W@m%amém(m)u

B €1

(3) @t sfeum mefeal § wr WS w=dim
o1 T} IR TH-TeF W32 ol T

(4) H*ﬁwvﬂﬂ@%%ﬁwm
- fyrerd Bt F 1

™

TVPRRR
s s s ot U T LA
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b 50. The four sketches (A, B, C and D) given | 59, 1% f&3 T =R e (A, B, CIU D) :
el eprecent o ferent e of | e - s e e 1. €772
correctly identified in the options given, T 1A fed T SRR

‘ along with its correct location and T U 3W A W1 T A | WA

. ién ? '

R fpnctlon . ey mu §7? <

yt

i

¥

s
o

o

: Q@ |

: Tissue Locatio ion

';, . (1)@) C(?lum-nar Nephr 5 .\ﬁ\é{i(m.nnd

epithelium gbsorption . .
— (H[(A) IEE | U T FFEE
Glandular \ ) EXcas
(2)] (B) o Iirtest Secretion
(;‘pltht‘lltll}} : Tiferet
—Colla Q Attach skeletal ()| (B) IO Mk Ha
: 7 Collage N e : :

. , \,.@f’(() ﬁbre&gz}ﬁ lifage I"ﬂlkl;b(_leb to N (C)‘ N FHTEg A R

; ones I ERITS .

» R gl % Wy W

) N ) Heart faht Toft

D : Hear :
(4%’( ) 2 cart contraction (4){L) TR %A A o
Q

\ L

A0

A weAs 15E et
'l
Ww‘ A g T v e e e e e - e - , P
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51.

2

Given below is the diagrammatic sketlch

of a certain type of connective Lissue.
Identify the parts labelled A, B, C and D,
and select the right option about them.

Options :

Part- A| Part~-B | Past-C | Part-D
Mast ACro-
1) as Co'llagen Fibroblast Macro
cell fibres phage I
\Y
Macro- Collagen
~ Fibroblast Mast
\/’(})’ phage PO fibres 1;@ i
Mast | Macro- N
(3) a8 acro Fibroblast ]k@
cell phage R
« Macro- | Collage \~
() ocroreragen Pibroblz@\xs)tcen
phage | fibres [N\

Q0

52. Sacred groves ar Ity useful in :

\_(/1)/ conser

speci

(2), gén

ating

eness

(3@%eventing soil erosion

v

rare and threatened

environmentatl

}  year-round flow of water in rivers

0

-~
@\/\
g@? FAHT W TESHEIHTT]
&
2) | gEgIRIF i
(2)|gEeIREY] | ATFRE -
y — PR
(3) " Fee a1 TS
L
4)|a87 Rt 9
(4) | grawemETT] £

&2

(1) gelw q91 Wheras wonfad] &1 |
(2) WAMEROY STERd daT S |

(3) TR A &1 Jeh) B

(4) ?&ﬁ‘fﬁﬁ—qﬁﬁqﬁ%ﬂa{%f

52. vﬁaw%&ﬁﬂamf&mwﬁﬁmﬁﬁ?ﬁ -

e e i AR T
. P s -

Bl
o o i

w o
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53
. of Polymerase Chain Reaction (PCR).

AT —T s DNA
o3 _— " 5
s ) a 5 ¢
EERERERREE R
B 5 3 - '
LM
l\
5! ¥
T — T
C
3 5
3 5
Optioné:

( B - Denaturation at a temperature )
: of about 98°C separating the t
4)»” C - Extension in the pr @f heat
stable DNA polymeras

-

54.

21

The figure below shows three steps (A,B,C)
Select the option giving correct
identification together with what it

represents ?

Region to be amplified

;{@/‘A - Annealing with two sets of
primers

DNA strands.

A - Denaturat'ion at a te ;
of about 50°C "&
i Q new organic

ssland, is called :

The,rate of form
matter by rabbit

(1) Grosso imary productivity

(2) Net@tivity

ordary productivity

D

53.. = @ o1 @ fax § detw
(PCR) & 4 =20 (A, B, C)
Fefafeas 4 9 f5a w faew
&1 freaor @t gg= T €2

A’ ¥ ds DNA
5. Ve 3
HHH'(&\ T
B 5 3 :
s S?\JD)IIIII .
3'
C
.

| @ A - TR ¥ A 8 % e e
@) B - TN 98°C ¥ A W fage
> foed < DNA W% guw & 13

(3) A - 50°C ¥ AT W o

(4) C-q9EArEt DNA e st saftufy
H ferme

54, fodt oy e o @Oy oo R Mfas ged
I91 & T I FEd §?

(1) uFa wyfus SO
(2) & SEHA

(3) fgdras semesran

t primary productivity

(4) & wufns IEeEwa

L AR A AT
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55.  Which one of the following organisms is
scientifically correctly named, correctly
. printed according to the International
Rules of Nomenclature and correctly

described ?

(1)  E.coli - Full name Entamoeba coli, a
commonly occurring bacterium in
human intestine

(2) Musca domestica - The common

house lizard, a reptile

Plasmodium falciparum - A protozoan
pathogen causing the most serious
type of malaria

@

(4)

Felis tigris - The Indian tiger, well
_protected in Gir forests. -

56. Which one of the following represents a

palindromic sequence in DNA ?
(1 5 - GATACC - 3’
AT

3 - CCTAAG - &
- G?ATTC 3

]A(AG 5

(-%)’ 5 - C.CAATG 3’

.

)
o

&
21::%@%

- GAATCC -5

.57. -Vernah%atl lates flowering in :
1 | (1) Gin
iy ) Zdfwrand
~ (3)\ Tgrmeric
arrot

S L R e

55.

57.

frefafeaa A @ forg & stte =
AT, S AR F A
W& BTAT T  qun ferEe
TR, WA AR 7

(1)

fEm

E.coli - qU AT
'Ei'ﬁ

%@ba col‘i, qHg '

S A T

fafafes 4 4 fow @ 4 DNA F Wil
el ereem i v § 7

(1) 5 -GATACC-3' "

3" - CCTAAG - 5’

(2) 5 -GAATIC - 3

3' - CTTAAG - 5’ K
(3) - CCAATG - 3'

3 - GAATCC - 5'
(4) - CATTAG - 3’

3. GATAAC - 5'
AT T o forad sedlifa dar g ?
(1) o - :
@) s L oy
3 - :
(4) TR

e bty g

i e R D 5
vy feene %
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. 58. .Which one of the following statements is

'~ correct with respect to immunity ?

(1)

)

K2

59.

Rejection of a kidney graft is the
function of B-lymphocytes

snake

The antibodies against small pox
produced by

pathogen

are

T - lymphocytes

Antibodies are protein molecules,

Preformed antibodies need to be
injected to treat the bite by a viper

each of which has four light chains

Which one of the following sets of items i
~ the options 1 - 4 are correctly categori

. with one exception in it ?

0

%%3

23

58.

ITEMS CATEGORY @*%\@ION
Typhoid,
yphot . Bacteri \ .
< [(1)| Pneumonia, di > iphtheria
i .
Diphtheria *
R e \YJ)
N T =FUAA, UAG, - N4
}Q odlons UAG
¢ N UGA / ’
Kanga@ tralia
u n
(3) Koal % S 1 Wombat
Wo,m>marsupmls
\Y%
Pl ndd% _
Protozoan
\ {4) ‘mé:, it Cuscula
o % : parasiles
. osoma

yfien & ged § fefafem A a ¥R @
FUF HWER T ?

(1}

(2)

(3)

fasey # fod T wdl *, TF AR T T

@ S H R ?
e Sioft YA
THFRES,
()| ey I | fewefifen
fewmedifaan
UAA, UAG,
@ Lea wuge | UAG
(3) El=rd
HIaTTen, areie | Argfre gof
e,
@]  FEEE |
' st
e
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60. Which one of the following pairs is
wrongly matched ?

(1)  Mustard - Synergids
2 Ginkgo - Archegonia
{3) Snlvinia - Prothallus

(4) Viroids - RNA

61. Which one of the following is a wrong
statement regarding mutations ?

\EL)/Change in a single base pair of DNA
does not cause mutation

(2) Deletion and insertion of base pairs
cause frame-shift mutations

(3) Cancer cells commonly show

chromosomal aberrations

(4) UV and Gamma rays are mutagens

62. Read the following four statemen@
(A-D):

(A) Both, photophosphorylatio

.~ oxidative phosphorylation
uphill transport of proton
membrane.

mbium

(B). In dicot stems, a
originates from CX% ericycle at

the time of sec Towth.

of Gloriosn and

(D) Symbioti (
_ free—liv%
How m e above statements are

right)?

(7

) S hree

e

60. Tr=fafea W F w ww e
61. ' frafafea § 9 99 @
_ N
T & g g H ufied
faeft qem Frdfor 4R A

fargerTa gom 2w s B

@ (4) UV e T fa Seeftadert g ¥

62. Frevfaf@d 9R w9l (A - D) # ufea

RN, S 5 e & R IR
T AAEET FTHA e ¥ |

(B) g sTorosl 949 # ¢ U, fgetaw gig &

Four

T it # Sifyeed § w1 21

(C)  Tendistar am digfar & gwi o gae
Gersh B ¥ | o

(D) mmmwﬁm
st H oft 91 W ¥

ST Fwerl o faras wy w@ 22

(1) &

2) &

(3 M

(1) W "

bt e e i BT R s b
w T

¥
* i A
I Ty
o
|

;
o
{

(A) WFIZiwTTRIfE aml.-. éﬁa?ﬁéﬁa |

w "’71‘“"“"‘*‘*%%%“&
- e .‘“,ﬂ-n;-i “!
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L= _#Airﬁ_f-k .
-

63. Where do  certain symbiotic | g3 wE YRR Fo @ weeet gassia

microorganisms normally occur in human

(3)  Oral lining and tongue surface
(4)

body ? %81 B1d U T § 2

é (1) Duodenum ‘ (1) el (gagm) o

- " : (2) HwTe (Fﬁ%ﬁ) |

1 /(_Z,)/ Caecum , <>
i ¢ @ ﬂa % o
i

(4) Vermiform appendix and rectum

menstrual cycle is also called :

o 64. TIE rdE-w A e R
. 64, The secretory phase in the human T ETG'"H'W ¥ wE 9 5

ﬁ?ﬁﬁm

ﬂ follicular phase and lasts for about

13 days amm 13 {7 7=

(2) luteal phase and lasts for about 6 , T 6 T 7

days

(3) follicular phase lasting for about 6

W, e 13 feT o 0 Y
days ?

(4) luteal phase and lasts for about 13
« days

: A\
(it e fres fag s

)
§2(1S DNA f&m fyfém|

(2) AT e wt fifeE s

| 65. Biolistics (gene-gun) is suitable for -

@y

(1) DNA finger printing @g (3) IRy FfeN F1 s
(2) Disarming pathogen vector (4) Hamsl F 9™ TSI A4 DNA
: 27" Transformation of plant (@ EZRCEIEH
1 (4) (‘(l)nqtrulctmg recomb &DNA by _ N o . '
i joining with vect -5@ 66, s @R W (GFR) W R amt w
: . s wfpasm G §2
% 66. A fall in glomerula on rate (GFR) (1) = fegged (day) w1 afs s
% aLtlvates Fafa fst
(1) posteg}o pltuitary " to release (2) TSI s wvEe w1 At R
v vasopr I fyest
: ;:_ o (;}/Juxta@@ ular cells to release renin (3) U e (stfugas aege) FTahE
' i .- rtex to release aldosterone I AR fad
| medulla  to release (4) Q?ﬁﬂaﬂ“gw ( Aftregars w1 aifen

30 Tge freet

RRRRGLL LR S TR T 1

"-lr'

[T T
| Eo ‘!‘F,‘,.. .

Y
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67,

68.

- Represented below is the inheritance
pattern of a certain type of traits in
humans. Which one of the following
conditions could be an example of this
pattern ?

FEMALE | MALE

FATHER

<

Son

(1) Thalassemia
(2) Phenylketonuria
(3) Sickle cell anaemia

(¢~ Haemophilia

Which one of the following cell%@rts

is correctly described ?

Lysosomes - 0pt1e ata pH

(1)
of about 8.5

somes - those on chloroplasts are
arger (80s) while those in the
cytoplasm are smaller (70s)

26

67.

A 73 s 1 et fregm o
M A TF W TR F
aymfa gfaws gyl w2
frafafas § 3 = &

Y%

68. FrfefEs § @ 3 ¥ uF FIRET am &
T v form mar & 2
(1) EEEE - ST 8.5 pH W gatade:
iy
(2) UTRIHIEEH - 9L fareefier et o e
et FARem=! & i1 99 §1
(3) dfediem (& #37) - 9l RNA
HIATY] o T
(4)  TEEEE - FeiRERE WO O T
(80s) o A TgLrETTH § 2 = B2
(70s) & 2 T}
s e kel m.ﬂ.‘tx-i-4..um.~:=u.<.‘ i |:;<.-=;&L,;.;.:.‘i\;i.n‘-iﬂ-»‘umim\:ml»w ;
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70.

69. Which one of the following options gives

the correct categorisation of six animals
according to the type of nitrogenous
wastes (A, B, C), they give out ?

27

69. ﬁwﬁf&aﬂ@ﬁaqﬁﬁaﬁqﬁa:‘;@)

) ITH Y- ¥HR & Freet
G U= (A, B, C) & -
wE vt F v g 2 &

AN\

A
AMMONO UREOBTELIC URIC(STELIC A ’ Q\B : ¢
TELIC ‘ st st | giar 3T FwH
2
: Aquatic Cockroach, Frog, Pigeon, \> How R
1) Amphibia Humans Lizards (1}| wrefta gemifsan @ ' b
) . Aguatic
r ki h
) igeon, Amphibia, Cockroach, N N
Humans . Frog ‘ Q‘Wﬁﬁ"‘ﬂ, .
Lizards 2)| e, 7Ed .| o, dew
Aquati o ot
quatic
F ¢ h Vo]
o %, | Ampn, | S I
Humans . . : i
(3) FHTHTE, HN
4 /AA)ytic Frog, Pigeon, Lizards, ({D QO
. 9 mphibia Humans Cockroach < NS4
— FHee, foumfaal
\Q&qmﬁm Heeh, AHa
Q Eacitict

Which one of the following ch @stics
) 1s common both in human% dult
frogs ? - |

-

Q

(2} Four-c red heart

3)

naé ertilisation

ucleated RBCs

A ST I £ 7 15 ol (T T T

>

D

70. frefafgs o @ g Y9 o tF 90 ¥ S A
ag g Hew), SF § YHE 181 | § ?

(1) gfean st fafy = 3o
2) =R-+g g

(3) atafEF f=A

(4) Hefhd o @ Eifm

: lwl-i‘.:zguai!:;qmn EER P SN RN R MURREME Gl L po o
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71.

- 72,

D

FH

28
Ideﬁtify the human developmental stage | 71, =9 foegrd Tt wHg ufgedy TgHH
shown below as well as the- related right T T TS T B Y T o=
place of its occurrence in a normal 3§ ) et F
pregnant woman, and select the right e e ' RS
option for the two together. :zo % TR Y
Q&Q
Options :
Developmental Site of T S R
stage ite of occurrence Hraidt m ¥ Ry
w/ 8 - celled Starting point of - faig W
| morula Fallopian tube Herdt 7fee ¥ T
Middle part of @ VR, 1 SR (e ) CwmE
(2| Late morula Falloian tub il
allopian tube S S————
End part of <7 (3)] =N (FRF) )
(3) Blastula ) V) i
Fallopian tube & _
(4)| Blastocyst Uterine wall~ §> @) (AR | i fafa A
- 72. S-Tog %1 w1 wHE W R ?
What is the function of ger _ o
(1) g &1 a8l A/ 2
(1) Release of male ga%
{2) Emergence of ra () A
(3) Absorption_of\water for seed 3) F1 & T F
germina '0@ (4) O Afe w1 oy
(4) Afitiatio en tube .
% 73. AW # fwar & fon 39 Praw
For its @ih‘ogenase requires : TRl B 2
Ny % oxygen radicals (1) 9 i ewew
(Z@ﬁgh input of energy (2)  F1 & 3= fEm
)¢ Light (3) W
n?+ (4) Mn?t

[ -w-m».-aq;nx:rammw!!mgw;‘i'r."
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74.

75.

) Jj,)/ Flowering

& Closure of stomata

76.

In genetic engineering, the antibiotics are
used :

(1) to keep the cultures free of infection

as selectable markers

- (3) to select healthy vectors

(4) as sequences from where replication
starts

Through their effect on plant growth

. regulators, what do the temperature and

light control in the plants ?
(1)  Fruit elongation

(2) Apical dominance

Fingerprinting ?

Mtellite DN Zring as highly
. so‘i

A segments

repeated s

(2) The re e\proportions of purines
and ines in DNA

(3 T ive difference in the DNA
’ oc ence in blood, skin and saliva

% :

e relative amount of DNA in the
ridges and grooves of the
fingerprints.

29

75.

76.

TRy

Bt sl g 3, AT qe
W W w0 frafm s &2

@%ﬁmm |

é@

>

What is it that forms thof DNA

) vireeer g
(3) g
(4) i g E

9% & o1 & S DNA ferdifen #1 anur

e

(1) TTEM DNA W arf Trefda 29 g
@9 DNA @vel % ®9 ¥ a1 9r S
2l

(2) DNA ¥ #5E I qun i &
At ST

(3) I, T 9 @R ¥ faEmm DNA #
sTfaE S

(4) STfe ol ® FeHl g @ik A DNA
! FATdE A
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78.

. Select

the correct
biodiversity :

statemen! about

(1) Conservation of biodiversity is just a
fad pursued by the developed
countries.

(2) The desert areas of Rajasthan and

~ Gujarat have a very high level of
desert animal species as well as
numerous rarc animals,

(3) Large scale planting of Bt cotton has
no adverse effect on biodiversity.

(4}, Western Ghats have a very high
degree of species richness and
endemism.
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77.  Safataum & fua § @ Faa gim s

(1y Safafawa w1 gem
TS Tk F7F 2 |

I B P Tl

() G g 3 T v
Froeran o me g Wy gt i

% S E |
%

@ ys. 3 el o e Hawe ¢
The ‘domestic sewa ge in large cit1%® *

(1)  has very high amounts @ndcd
solids and dissolved%

(2) has a high 5‘ a5 contains both
aerobic and E : a '- ¢ bacterin

(3) is proc %by aerobic and then
anaeronic teria in the secondary

Pl%
@1 treated in STPs does not really

fequire the aeration step as the
sewage contains adequate oxygen.

rferer T B B

(2) # 391 BOD Tt § *if 390 argatd
o7 2TATTAE S YRR & SERITE B
= |

(3) I, Terrel STER WA (STPs) # g
TR H, uge O et SEiE g
q1 IEF G FETId AFIF §R
TR IT AT A € |

(4) % STPs § STed 01, R I §
Hersie § wate sfedie et 21

EE
it . i s

(1) ﬁﬁﬁhﬁ%@gﬁﬁdﬂﬁ%ﬁﬁgﬁ‘

e s R R




o e

‘

aw—— .

@ Plants with ovaries having only cne or a

i, BT

i gt T R
i :

‘negative bacterium.
(C)~Tissue culture has proved useful in
' obtaining virus-free plants.
(D) Beer is manufactured by distillation
of fermented grape juice.

- How many of the above statements a <
. wrong ? @
:’t-‘ : 'G/{‘I)/ One ‘ ' %
Thn T &

s! (3) Three @

: (;I) Four @

181 The supportive sk uctyres in the
‘- human externaled in the nose tip
8 are examples of :

- {1 cartilag

(2)  ligameat O

“ (3) issue

i

.ﬂ “

(R

iy LI IR R [ e W s A1 XM ] M B e s i s B 7 4 55t s 6101 e 8 8 e s
E'S?'menmmmmw.m:nmmunmrrn.m TRILLL 4 AR s, pRNpETe. e
kT 1
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. .few ovules, are generally pollinated by :

(1) . Wind
{2}y Bees

(3) Butterflies

(4) Birds

80. IRéad the following four statements
(A -D): '

YA} Colostrum is recommended for the
new born because it is rich in
antigens.

)é) Chikengunya is caused by a Gram

79. 3 D o stewmdl # e v
zﬁééémmﬁmﬁﬁ,wm

(1)
(2)
(3)

(CF FaF daq amwa-tfed O wa w o

o e fag e #)

@(D) S &1 e farfree SR W &
@ TES g fan o

ST FwAl F fH5TY w5 Tog ¥

1) TF

2 @

(3) T

(4) =m

AT ST WO foras Samo §7
1) Iwfey

(2) *m

(3) dmEEY waw

(4) few

81. WAl % el FH d°W WH F IR BR H .
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82.

83.

S TELT g

84.

As compared to a dicot root, a monocot
root has :

(1)
(2)
3~ Many xylem bundles

Relatively thicker periderm
More abundant secondary xylem

(4)

Inconspicuous annual rings

Which one of the following organisms is
correctly matched with three
characteristics ?

(}{’

its

Maize : C, pathway, Closed vascular
bundles, Scutelium

(2) Pea: Cy pathway, Endospe q
seed, Vexillary aestivation
(3 omato : Twisted aestiva{{on, Axile

placentation, Berry @

(ﬂ) Onion : Bulb, Imbrida tivation,
Axile placentati@

Which one ollowing pairs of

chemical (n nces, is correctly
categoris% @

and rhodopsin -
Peptide hormones

alcitonin and thymosin -
hormones

Thyroid

Pepsin and prolactin - Two digestive
enzymes secreted in stomach

WT]'oponin and myosin - Complex

i

proteins in striated muscles

(2) T C, TuR, yordrda wi, dfemer
za foame

AT : oArafdd e fomamy, W4T
ey, S

g4. Froifef@e & © fog & 91 & U9EHA
qerf 1 WEr ot feran T R 2
) Ao et - deftere T
(2) Ffewetfm qur argetfa - angey
(sTagded) & wHiA
(3) UfmH am gﬁfaa‘—i - e |
(4) | it ae e - Xfew Al § v
SIEECIG RSt R IEAE
Hr e o """';;“"""“‘f wier A “f‘,:mmﬁww e lw:.ﬁ%g
R v Aty
" - :‘T’T?ﬂ e
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85.

Identify the molecules (a) and (b) shown
below and select the right option giving
their source and use.
~CH,4 “
(a)
(b)
Options : %
’:_ Molecule Source Ufe \%
o
L apaver
Lﬂ/(er) Morphine semuniferum e
ller
\ cc\efem tes
the
(a) Cocaine )t?ransport
of
dopamine

Depressant

33

85. A fewmd 1 R arust (a) qen )
TN 3T B TF 399 ¥ firyg
Rl

L L

{b) Heroin Citnnabis and slowsg
Qb sativa down body
%? functions
¢ ] Produces
10idd Afropsa hallucina-
belladong
' tions

et
(1}|+ (a) wiwTH - ‘
i &
(2} (a) =& s | e o
?
IMAH Y T
@ G | T | e
EZGIRS
. Yo | favm e |
L(‘I) (b) Ffaarz | | .
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86. Identify the meiotic stage in which the | g6, g I Hl ATYF St gl g
homologous chromosomes separate while

the sister chromatids remain associated at
their centromeres :

J8¥~ Anaphase 11
(2)  Metaphase |

(3) Metaphase 1

\(Mnaphz}se I

87.) Which one of the following statements is
wrong ?

Intine is made up of cellulose and
pectin

When pollen is shed at two-cefled %
\ itage, double fertilizationdoes noﬁ@ S frieE e
'~ take place. 2
3y At it SR i @ sfus @€

) Vegetative cell is largeraflan

_ generative cell. @ LIS

(4)_~Pollen grains in some p %mai (4) B T F W ﬁ"ﬁ Hlg dh
WeAam I WA gl

viable for months.

88. The idea of mutatio rought forth | 88 AT (IR HI fer=mera F1 few
wea e an?

_ (1) Charles % A, who observed a (1) eved oifds, o ort wgg ae &
wide vorganisms during sea P <iEl wy arh fafawar 3@y ot ‘
. voy b . |
_ \u/ (2) TS W, e arewe s
. 2 % . Yrics, who worked on S — T .
; % ng primrose
i g, e weew dzEaa W aH
i (S%yegor Mendel, who worked on (3) T ’ R)
isum sntivum ERIRI
o , |
Hardy Weinberg, who worked on (4) aﬁ‘ﬁr gt Twfte & it Tefie
allele frequencies in a population AR I % foman o
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' i . 8‘9.ﬂ_i'leead the following four statements 89. frefafad ar sy (A-D)#HI :
. , . (A =Dy 3

- ' A) TR (retEa
{A) In transcription, adenosine pairs A% (11 )

with uracil. e Q-THTEIGﬁE_T o
?B‘;—\Regulation of lac operon by repressor (B) FEW BRI lnc gy kil
is referred to as positive regulation. YTehss g s
“ (C) The 'humlanso Oggnome has (C) == SHm F wrnsg OOO’Gﬁ'FI?Iﬁ%I
‘ approximately 50, genes, y
b g - (D) Haemophilia js a sex-linked recessive (D) ) ST I
v disease. e
1 - How many of the above statements are IR F [ o w2
i ?
oo
f ne
] 2) &
i {2) Two o
: .”\M Three )
: . (4)- Four
90. Which one of the following pairs of | 90, ﬁ‘@m@?ﬁ%%aﬁfmm&
animals are similar to each other foi @m%mﬁ@fwﬁw

pertaining to the feature stated against
them ?

Q H
P (1) Sea horse and Flying fish - Co@) (1) w9 Eh@r a0 3 " - Wawty

A
w2
_ blooded (poikilothermal) ( 3TFHATt) an ‘O’;'
- & Pteropus and Orm‘fhurhy (2) v AR FT - gefiaysma
' - Viviparit
: P y (3) wEm forwet (frore) qen woss
b (3)  Garden lizard and Crocodil ree .
* chambered heart @ Fefta Tea .
' {4)  Ascaris and Ancylosiy r@&tameric 4) U=FRT am eETFTIE - fawe
segmentation TEET

2-91 ; g“-’fimeta”_ic sphe ;‘diil‘l o azng 91. 1cm A3 an B & wig & 2 el )

C kS 3cmare glven es'of —1x10~- . 2 ' P o
4 and5x10‘2€ espectively. If these are - Ix10TFC M5 x 1072 C :
i connected by %ucting wire, the final fean man & afe, 3 U e q ﬁsﬁg
‘{i charge on lh%&r sphere is : fean s 1, EERIC Rt TR by ] N
5 y VSRV () 1x10-2c 4= 8, o
I :‘QL.f N 2x10-2 IC @&: U 7
" 2 8=V 7N Q N -2 . |
I 10~2 C o s (4) 4x31072C G Qa
LR - KX ! o
! @y =9t ﬂb AR

-

i
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92.

93.

94.

36

A proton carrying 1 MeV kinetic energy is
moving in a circular path of radius R in
uniform magnetic field. What should be
the energy of an & = particle to describe 2

circle ef 5ame radius in the same field ?
1) 4MeV “);L& @3\;@

(2) 2MeV ~ oS

3) 1MeV ”ﬁ ot
(4) 0.5 MeV R

A circular platform is mounted on a
frictionless vertical axle. Tts radius
R=Zrn__.a_nd its moment of inertia about
the axle is 200 kg m?2. Tt is initially at rest.
A 50 Kg man stands on the edge of the
platform and begins to walk along th
edge at the speed of 1ms ~ ! relative to th

ground. Time taken by the man(to
complete one revolution is

ay Z 1o @Qﬁ

M 3¢ o v’%

(2) s @

3n %
® s @
(4) 2ms @&
94.

The ratio @tude of magnetic field to

the
elec

a e of electric field for an
Retic wave propagating in

equal to:

u

o

m

4

reciprocal of speed of light in vacuum

4)

the ratio of magnetic permeability to
the electric susceptibility of vacuum

PEPETTIIIP: R P

92.

93.

e Ht L g R LBt S o e gl

ﬁﬁﬁmaﬁﬂfﬂﬁﬁﬁll\/{ev

(2) 2 MeV

(3) 1 Me%

4) 0.5V

T

: 7q 7w B R =2 mB A

smerot 200 kg m2 31 gRH H TE |
¥ %1 50 kg ZEHH B TF S

N

NN
% q v ¥ PR W T B A fee

ety (FHfET) 47 F A Lms 1 % 1
& Eer TRY HT ¥ W, T AR g0 TH
wwﬁﬁmwm

n s
{2y =s
3 5
(4) 2ws

rafn % e gy T A F
W,Wﬁuamagaﬁﬁ%.m'mm

n @

(2) frata T weTR & AT & TTEAL

(3) frata § wETw % AT H HEHH H TN

@) st & e A (TG
o1t g e (re waf) ¥ ST
F TR
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A magnetic needle Suspended paralle] to

©-a magnetic field requires /3] of work to

turn it through 60°. The torque needed to

.+ .Maintain the needle in this position wij]
.. be: S

ISR

s P

VIS S Y

N s

2 23] e

& @

OIS S )
o % r

closer to the pole
mirror. The lengt

(1) 5 cm
| (2) 10 em
{3) 15 ¢m
(4) 25cm

The moment of inertia of a unifoy % g
disc s maximum @a
s

is 20 CIn away from the
h of the image is :

about
3 ,;perpendicula'zjl to the disc j
through :

T T gy -

a3 %Q

(2 237 |

3) 3] @ |
4) 3] :

IOC@ d ,_E‘g?ﬁ, 10,cmqﬁ?§§:ﬁ%
-Q—

T 5 5 1 i 5 v

TR0 em T D, Thifreg o
@g)ﬁléﬁﬁ: |

1) 5em |

(2) 10 cm
(3) 15 cm
{4} 25cm

ﬁﬁmwwm%ﬁ:(?ﬁ)’ﬂm
am;ufawfwatra’lmwﬁ: ‘égvh.emﬁe.w%
maaﬂragwa; '

?faﬁg@qa&r%aiﬁwml
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Which one of the followiny plots
represents the variation of gravitational
field on a particle with distance r due to a

thin spherical shell of radius R ? (ris
measured from the centre of the spherical

99, ﬁ:ﬁmuﬁquﬁﬁrﬁaﬂﬂy:lmaﬁ%ﬁ
,%{Qﬁmﬁ#@ﬁﬁﬁﬂmﬁ'&sﬁmﬂ—ém;

correct :

99, To get an outp
which of thi;é owing input will be

. Aj [:
B | = B y
__,__}_-—'ﬁ._-} Y ol — o ]:‘ ‘ | .
B C A I&Y'C N A B C
1 0 v Mm o 1 0
o 0 2 1 0 0
o 1 Gy 1 0 1
! - @ 1 1 0
O><AR Y
[ O |
0 A ]
1
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R X Q,S‘nﬁ
B ¢ o
u'h.u ‘ Nl A %l
T 39 )
100, The €quation of a simple harmonic wave | 100. frht IS ead w5 Hﬁm
- isgivenby;
| : =3 sin 2 (50t~ y) & @
| y=3_5in§(50t—x), ¢ §ha ax (:‘ -2 ) / _ 27 e X
(] _ b STRT x Ty Thex F sy | &, erfieman
4+ « . Wherexand ¥ are in metres and ¢t is in oo
) S seconds. The ratio of maximum particle FIET o7 - 3 <l @ :
A velocity to themlfcr‘}y, 5 1 s
. 5 . S:%%{ - 3%_/_,\1 (1) 37
W &, 1 2
= ) 2m WS o
N ne Y Y
) o 2 q M 4) 317\
N - {4) 3% T T ,
fepett TS F @ D ¥ g
101 AI pfrali:elll};laEte catiacuox habs ta umfotrhm & F1 Ty E® zfe Tuifey
electric fie In the space between the . )
plates. If the distance between the plates F W ﬁ & d -a TN T i
is d and area of each plateis A, the energy AR, Herfey § Traa il &1 o
stored in the capacitor is : Nl
1) c.Bad A < e |
i : ) — 2 e EAd N Q-
. T2 : 1 ~ \
BT Und s D N
: 2 RS A ’ ="
3) E Ad/e, o o [?,2/\({/30 @ﬁd 3
L 2 > ' 1 9"
\®/ EE(}E Ad 1- N ‘SUE2AC{ { \“),_.__ {LC’
‘ i e
1% The power dissipated in the'cifl 102. 1@ & <9t T e e 30 a7
"4 inthe figure atts. ?"-
B is : N @ Fﬁ, R3& oq % ' L
et N pu
r R
AN e : C_/V .
50 1
!
H}—_n___-ﬂ__.
10V Nt )’}
Q
1) 300
(2) 200 1o © 20
(3) 150 SR
4 100 T
S0ot [fooR = (3o R
& o R /ggpx
‘_ i eme " ).-.‘.,"' /// _—‘
o Y S
Sl et
/ b i -&{’3
L] v k¥
T ! 1/ ‘ ' g
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103. If v, is escape velocily and ¢, is urbital
velocity of a satellite for orbit close to the
earth’s surface, then these are related by :

M v.=27,

40

(2} v= 27
(3) v,=v,
4y v,= 2y,
104, A stoneis dropped from a height h. It hits

the ground with a certain momentum P,

If the same stone is dropped from a height 13@ -‘ ‘ %’Uqﬁﬁﬂ T H, T

100% more than the previous height, the S Ry wfesw e | fre Gl

momentum when it hits the ground will TR WO TEE W ° ufEdd

change by : 2

(1) 100% ©  100%

(2 68% % b 68% %

3y 41% §> (3)  41% o
M% @Q (4)  200%

105. An ideal gas goes from state A t @ 105. fe@m T P.V 3@ & IR, Th aresl g
wia three different processes asQipdigated 2 i fafvs wadl g feafs A frafa B a% )
in the P - V diagram :

& ST S g
; % g
S |
|9 @ -'
& 1

gte the heat absorbed by
Ae three processes and
AlJ, indicate the change in
y along the three processes

T vely, then :

<%;ﬁQfCh and AU;>AU,>ATU,
'%Qﬁ(}f@s and AU, =AU, =4U,
Qy>Q,>Q; and AUy = AU, =AU,

@) Q=Q,=0Q; and AU, >AU,>AU,

e T T TSRS TA PIEP: | B CARE e St
TR R e e ey

’

*o

I hc P B
SRR den il g 2o L :
LG S T TR I R VO f

103

G D

. Al o, TETAR AT A A o 7 T €Ll
¥ giehHul FH e ITUE A R v, &
A, R e T A @

1) ve=E o, @ ’
@ i
B vomve @
(4)
. T TR Frreran <R &1 € WA

V—

afe 39 W9 W A, TIEUd TS FE:
Qy, Q, TN Q, 3 st el A wEd
AU,, AU, 881 AU, B 0 : o
(1) Qy>Q,>Q T AU]'>AU2'>AU3 ,
(2)  Q>Q,>Q,duT AU, =AU, =48U,
(3)  Qy>Qy>Q T AU, = AU, =AU,
(4)  Q,=Q,=Q, 741 AU;>AU,>AU;

Wi

LI si;,:.g@‘.;..;.,,‘,'q,aw,,,s,wi T




106. Two radiations of
"iv ' and 2.5 eV, succ

Wy W A

(2)  lies between V2 and 1

-

(3)  lies between 2 and /7

S >

15 less than 1

photons energies 1 eV 106.
essively illuminate a

&

@J—J)@@ B) 23R 5 %y

41

-

P 1eV AU 2.5 eV 39t & Wraf_fin

N
| v, ot v
;'.plri:otose'h'sitivr; metallic surface of work e (
" function 0.5 eV. The ratio of the maximum FI i F ¥ TS FHE
. | speeds of the emitted electrons s - . g1 W, 7 Oy H 3sfdfq 0 'Eﬂo '
oyt = 1 Srama g
1) 1:5 L sandt =
| 1 'S (1) 1:5
t@/l 14 ) W |
S ] BRSO
T AP A (3) 1:2
1 @ 1:1 S XYy
L = \ 4) 1:1
For the angle of minimum deviation of 4
C' Prism to be equal to itg refracting angle, | 107. fedt %6{'1?11? EEGEE D H A IhH
the prism must be made of a material F TR s‘nnzrﬁ:', e & veref
L . ., whose refractive index : i a .
' (1) s greater than 2 ‘ : - o

2 ® ffires

2 AIFd g, QDA

« If the momentum of an electro

. by P, then the de Broglte
associated with_ it change

| ini.ti‘al momentum of ele

4) 19 %y

108. Wsﬁaﬁq%@naﬁpﬁvﬁaﬁmw
359 Hag 2 g ar'rﬁw‘o.s%vﬁaﬁaa

et # | aﬁ,sﬁaﬁqwmﬁmﬁnﬁm:
(1) 100pP A= K
9
(2) 200P
AP =K
(3) 400 P

r )(p . PAe

200
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109.

1000+ 2¢O ®

FECL

42

Three Mmasses are plm'vd on lhe v-axis

300 g at origin, 500 g at v=40 cm and

1

cooxyot 990X10

o o e

fno ©

09, Tafua ol 3 9 fie -3 39 T

400 g at x=70 cm. The distance of the
. centre of mass from the oriyin is: 300 g &1 RS Hel fﬂ@ Y 500 g i,
(1) 30 em v=40 cm T U1 400 g x=70 cm "7
e LGEESE g%" 0 @
« (1) 30 cm
(3) 45em »o. 40 : _
(2y 40c¢ '
(4y 50 cm (3) 450
(4) jcn%) )
110. A car of mass m is moving on a level .
circular track of radius R. If p represents
; 1100 43 0 F1 R B & fwdl gaEn
' the static friction between the road and y & ,RT = N T
tyres of the car, the maximum speed of the o7 e T FT I ¥ 1 A W qA AR

v

il DR Mk g e B e

cat in circular motion-4s given by :

(e Re
(2} Ms mﬁ‘:%

(4)

thickness (.1 posed on the lower

surface to t 100°C. A block of ice
at 0°C 1 ‘1%7 Ge upper surface of the
slab. 1 ur 4.8 kg of ice is melted.

conductivity of siab i3

i3 ' 111.-A slab of ston@%ea 0.36 m? and | 111

A D, FRE
=T W S HdH HH B

O

(1) Jus Rg
(2)  Jus mRg
(3)  JRe/ns
(4)  JmRg/us

| ger # U @ () w6 0.36 1
% o TEE M 0.1 m ¥ TR T W
(g% 100°C 1 w1 ¥ gk F ¥ 37
St T WOC A A HY T WA
forerd T o2 4.8 kg o Freret S B

ialt;%n]t-kghﬂe]a)t: of fusion of ’ Hﬁ%waﬁwm=3.36x10sjkg
(A Kf‘y‘) 21 A, TR S T ] S AT g
1.02 §j/m/s/°C x ° Y . .
1y 1.02 ]/m/fs/°C
y 124 ]/m/s/°C (@) 1241/m/s/°C
(3) 129 ]/m/s/°C 0,03 (3) 129 ]/m/s/°C
o -'A‘QS'\O/ , o
(4) 205 /m/s/°C - 4) 205)/m/s/°C

P v e P A TR VAR PR

e g nbd !H,.Lij;.ﬂfl.iiij..l;..‘,lfﬁjke;;{-»'..‘ )l B o

e s
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1} L1 T PV B s oy ol 8
7 e —— TR R e T T, £201 “
L
[ ]
|
I

112, In a coj] of resistance 10 {1, the induced 112. 10 iy 5 T Fee W
i current devaloped by changing magnetic TAR Forerg e
’ flux through i, is shown in figure as ® , Al
0 g &1, _ function of time. The magnitude of change RRLEE T & S G g
Oem™E, in flux through the coil in Weber jg - EEEERC T IS Ielt @ Hag
7 - b ! i v ‘ Vﬁwﬁ‘?ﬁaﬁ‘—rw ) 3§,
' j ! (amp) ‘ \ . :
: Q N ’%{ ! (amp)
1 ) q
] A
g W
0 A
. — . P
g 01 ) %™
) T4 | — LoRU% ]
o arf ) 8 2~
| - (3) 2
I, &R ’ 4 6
113. A car of mass m‘;egg_r_t;;___mf_mm_ rest and
accelerates s,mth@t‘_t_hle_ instanta nNeouys.?

power delivered tq the car has 5 constant
‘magnitude P, The instantaneoys veloci
of this car ig Proportiona] to -

BT

% ' F
RORRYN s~ 2= RN % (1) t/\/z
(2) t2]:)
() 12p, @ :
3 72 % 3) 2%
@ @ 2%

114. wmnmﬁaﬂaﬂizzoms-laﬁamﬁ
ol g uw 39 ]OOO‘HzaTlﬁl’fﬁﬁ*Eﬁl

oo &
+ A train moving at 4 %@7220 ms = !
towards a sta‘tionary MtS a soung

of frequency 1000 € of the soung

Bl T 3 @l g T YT 39 a%g
;eac?igg the obje S irreHected ba;k}to = sfaeafy ¥ wy R ElL e Fone
e train ag e > 'l'equency of the .,
echo as dete&te bythe driver of the train gl H‘T, g_r{ F &1 % H T (9T) i
is: vlawafy ) SHCIE

(AR =t gry 4 g2 330 ms~T1)
(1) 3000 1,
(2) 3500 11,
(3) 4000 H
(4} 5000 g

+ - (speed of a’h air is 330 mg - H
‘ (1) 3000 ‘
- (2) 3500 1 n:=nl
(3)

(4)

: ' TR m i =
M L T R . T -
- e i e \ .
i [ " A
. -'i :
§

C ek
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115. The input resistance of a silicon transistor | 115, et fferea 2ifeser & faw gfals 100 117.
is 100 . Fiase current- is changed by S ST U H 40 A afrad & il
40 pwA which results in a change In )
collector current by 2 mA. This transistor o7 # 2 mA H1 TREE A R T
is used as a common emitter amplifier ], IHATTS - IS H-TaH & '
with a load resistance of 4 K. The voltage wive gy ¥ Ty 39A T R R n\
gain of the amplifier is I _
1) 1000 0. T, aon? " w1 deea wfsy gt o
P= 5 o (1) 1000 <::i>
(2) 2000 (2) 2000 118
- {3) 3000 (3) 3000
(4) 4000 ;)
116. A cell having an emf & and internal 116.
resistance r is connected across a variable ;
external resistance R. As the resistance
R is increased, the plot of potential
difference V across R is given by :
’? [ \./ L
‘ 29 \Y
$
(1)
0 R .
(2) !
(3)
(4)
i \\ E Hi -1 'qfﬂ:m'd‘f‘ﬁﬁ‘ﬂtf""‘-{'i»—anrﬁui‘viu‘éﬂmm..w._.ﬁ;” R - . .
' ’ TR s ""N:*"'Iiwﬂmﬂ[fm,‘;i?wmg-wiﬁﬁf&;

e M e T iy
-

e ¥

o ——

) 4 :
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117. The dimensions of (Mot )"V 2 are :

e (1'-) [LI/ZTW]
" [L1}2T~ 1/2]\4

@) L1 (L=t

-1
AT @ [LT-Y

: 118.%&?%@@%@3&
118.. The; half life of a radioactive nucleus is

50days. The time interval {t; —t;) between ARG ARL:C _;5 YN & @
2
the time t, when 3 ofit has decayed and 1
qer 3 g %
1
the time t; when 3 of it had decayed is : S, (t, - t;)
(1) 15 days (1) 151 %0
2) 30 days (2) 30
(3) 50 days . 30
(4) 60 days (4)
119. The instantaneous values of aItematjng 119, 4 7 gy ﬁi’ﬂ'cl YT a4 dieedr ¥
" current and voltages in a circuit are given AT} %Y e YR Fefug g
as - %_, %

. :=~4\7—5 In (100 rt) ampere q -

/2 s (100-wt) qfgay
L @ 1
€ =77 sin (100 wt+ 74 Vot &J Tl e =5 sin (100 wt+ T4) s
The average power in Watts consy v(' i @, 79 yftgy T arfyq sraa wis (3 )
the circuit is @

1 3
(1) 3 ‘
‘ i ‘6 (
@ - (8o

@) V3 O~ (5066 L3

1 33«5’0
2¢ A0 2%

P

e
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120. The transition from the state n=3 o n=1

in a hydrogen like atom results in
ultraviolet radiation.  Infrared radiation

_ will be obtained in the transition from.:

Mfl—a?) Uy \J

(2) 2-1

-o0o-
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Read carefully the following instructions :

RN

Froiferfad Féyr en7 @ 98 :

- circumstances.
_ The candidates will write the’ Correct Test

1. Each candidate must show on demand
his/her Admit Card to the Invigilator.

2. No candidate, without permission of the
Superintendent or Invigilator, would leave
his/her seat.

3 The candidates should not leave the
Examination Hall without handing over
their Answer Sheet to the Invigilator on duty
and sign the Attendance Sheet twice, Cases
where a candidate has not signed the
Attendance Sheet the second time will be
deemed not to have handed over Answer
Sheet and dealt with as an unfair means case.

4. Use of Electronic/Manual Calcuiator is
prohibited.

5. The candidates are governed by Rules an
Regulations of the Board with regard to thei
conduct in the Examination Hall. All cases
of unfair means will be dealt with a

Rules and Regulations of the Boaré@
6. No part of the Test Booklet @ swer

Sheet shall be detache any

~3

Booklet Code as giv

" Answer Sheet in
[\

e Test Booklet/
dance Sheet.

oS- afer 3 st 3 forw wanedt =irg & Fre
Qqﬁﬁﬁﬁmﬁqﬁa%s srfe WA & @t

1 Wi S Y wedE e ﬁfrarr
v e @

2. nefers W wy FdwE G fam #
witegedt STo TN A BE | o

3. A W e 3 fou fa @
sufeafi-739 T FEN o gfieneft wltan
GEEEREEY Tiendf 1 gl IR
sufeafa- et T |l I WA ST
fa  offeran @ ot 9w erfea
ek T ST ’

4.@%@/?@3@3%%3@“%

o

e w1 e ave & et wd faf ergen |
R I '

6. FEd off frufa o wlwn gfwm ot SW T F
g U STE A HL

7. e qfee / Sw oA # Ry e edan g
H¥q & el wd % @ sofeufa-ow #
fad | o

&
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